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AE| meng = - = = AE| meng = - = =
Hh 5 RIEX &S =5 =5 A Hh 15 RIEX &S =5 =5 A
100cm 50cm 5cm 100cm 50cm 5cm
1 |kmEspe 0.07 0.08 0.08 21 |1 15148 0.05 0.05 0.05
2 |mig 0.08 0.09 0.09 22 |om 34248 0.05 0.06 0.06
L EE{RE "
3 | 0.08 012 015 23 |am 64248 0.06 0.07 0.07
4 |EbxmEmE 0.07 0.10 0.14 24 |am mx= 0.05 0.06 0.06
AR EERE HE FREERE
5 MRk 0.06 0.08 0.07 25 (R 0.08 0.10 017
6 |mmT 0.06 0.06 0.05 26 |mEE#AD 0.06 0.10 012
7 |HrEmET 0.06 0.07 0.09 27 |3m SoFL—L 0.06 0.06 0.06
8 |mEkEmE 0.07 0.07 0.08 28 ggﬁf*” 0.04 0.06 0.05
LR ERE AERLEERE
9 |FEhn 0.08 0.10 013 29 |2 0.08 0.11 0.24
10 |kamEet 0.09 0.14 0.51 30 |kEEER 0.05 0.05 0.05
1 |W=nEwET 0.08 0.10 0.26 31 |oB BHIL—L 0.05 0.07 0.08
12 |EB=VELT 0.09 012 0.23 32 |1g s 0.05 0.06 0.06
13 |Lro—=mET 0.07 0.09 0.19 33
14 |tREFET 0.06 0.08 0.22 34
15 |4bon 0.09 0.11 0.19 35
16 |3t 0.07 0.08 0.08 36
17 |Bwsr 0.07 0.09 018 37
RE
18 |BEE L 0.09 012 0.25 38
19 |2hzE 0.07 0.07 0.07 39
20 |msEEE 0.08 0.11 0.32 40
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